

STATE OF SOUTH CAROLINA) ADDENDUM NUMBER FIVE
) TO SOLID WASTE COLLECTION,
) DISPOSAL, AND RECYCLING
COUNTY OF BEAUFORT) SERVICES AGREEMENT

This Addendum Number Five dated as of this 13th day of October 2017, is entered into pursuant to Exhibit A of the Agreement between Beaufort County School District, (BCSD), and Waste Pro of South Carolina, (Waste Pro), dated December 1, 2015 for solid waste collection, disposal, and recycling services for BCSD.

Exhibit A of the Agreement is revised as follows:

- 1. Exhibit A of the Agreement shall be amended to add one (1) front load recycle container with a frequency of one (1), size six (6) yards, under the Other heading. The cost per week is \$14.13. The location is Beaufort High School, 84 Sea Island Parkway, Beaufort, SC 29907. The effective date is October 13, 2017.
- 2. All other terms and provisions of the Agreement dated December 1, 2016, as amended, shall remain in full force and affect.

The parties hereto have executed this Addendum Number Five, the day and date first written above.

ACCEPTED:	APPROVED:	
WASTE PRO of SOUTH CAROLINA, INC.	BEAUFORT COUNTY SCHOOL DISTRICT	
BY: Reals (flager	BY:	
NAME: KANDAC !! KOGERS	NAME: Jeffrey C. Moss .	
TITLE: SALES MOR.	TITLE: Superintendent . ,	0_

IFB 16-007 Beaufort County School District Resource Management Pricing October 1, 2017 - December 31, 2017

Containers Proposed								
			Cubic	Weekly	Cost/Pull	# of	Cost/	6 Month
Location	Waste	Recycle	Yard	Frequency	/Week	Pulls/Week	Week	Total
Early Childhood Centers								
	1		8	5	16.40	5	82.00	2,132.00
JJ Davis ECC	1		6	5	12.30	5	61.50	1,599.00
		1	6	1	14.13	1	14.13	367.38
Indiana de la constanta de la	1		8	5	16.40	5	82.00	2,132.00
Hilton Head Island ECC		1	6	1	14.13	1	14.13	367.38
M.C.Dilay, FCC	1		8	5	16.40	5	82.00	2,132.00
M C Riley ECC		1	6	1	14.13	1	14.13	367.38
Diseffer 500	1		8	5	16.40	5	82.00	2,132.00
Bluffton ECC		1	6	1	14.13	1	14.13	367.38
Statistics FCC	2		8	2	16.40	4	65.60	1,705.60
St Helena ECC		1	6	1	14.13	1	14.13	367.38
			Eler	nentary Sch	ools			
Desurfant	2		4	5	8.20	10	82.00	2,132.00
Beaufort		1	4	1	11.54	1	11.54	300.04
DI . (()	2		8	5	16.40	10	164.00	4,264.00
Bluffton		1	6	1	14.13	1	14.13	367.38
D 1 D'	2		6	5	- 12.30	10	123.00	3,198.00
Broad River		1	6	1	14.13	1	14.13	367.38
6	2		6	5	12.30	10	123.00	3,198.00
Coosa		1	6	1	14.13	1	14.13	367.38
10161111110	3		8	5	16.40	15	246.00	6,396.00
Hilton Head Island IB		1	6	1	14.13	1	14.13	367.38
I C Chambilla	2		6	5	12.30	10	123.00	3,198.00
J S Shanklin		1	6	1	14.13	1	14.13	367.38
l a di da lalam d	2		6	3	12.30	6	73.80	1,918.80
Lady's Island		1	6	1	14.13	1	14.13	367.38
AAC Dila	2		8	5	16.40	· 10	164.00	4,264.00
M C Riley		1	6	1	14.13	1	14.13	367.38
Mann: O-l	1		8	3	16.40	3	49.20	1,279.20
Mossy Oaks		1	6	1	14.13	1	14.13	367.38
Okotic	1		6	5	12.30	5	61.50	1,599.00
Okatie		1	6	1	14.13	1	14.13	367.38
Dort Bound	1		6	5	12.30	5	61.50	1,599.00
Port Royal		1	6	1	14.13	1	14.13	367.38
Pod Codor	2		8	5	16.40	10	164.00	4,264.00
Red Cedar		1	6	1	14.13	1	14.13	367.38

IFB 16-007

Beaufort County School District

Resource Management Pricing

October 1, 2017 - December 31, 2017

Containers Proposed									
	<u> </u>	Containe	Cubic		Cost/Pull	# of	Cost/	6 Month	
Location	Waste	Recycle			1	Pulis/Week	Week	Total	
Yard Frequency /Week Pulls/Week Week Elementary Schools									
3 6 3 1230 9 11070 287820									
St Helena	-	1	6	1	14.13	1	14.13	367.38	
	2		6	5	12.30	10	123.00	3,198.00	
Whale Branch		1	6	1	14.13	1	14.13	367.38	
	2		8	· 5	16.40	10	164.00	4,264.00	
Pritchardville		1	6	1	14.13	1	14.13	367.38	
	2		6	5	12.30	10	123.00	3,198.00	
Hilton Head Island SCA		1	6	1	14.13	1	14.13	367.38	
	<u></u>			le Schools a		<u> </u>			
	2		8	5	16.40	10	164.00	4,264.00	
Beaufort		1	6	1	14.13	1	14.13	367.38	
_1	2		8	5	16.40	10	164.00	4,264.00	
Bluffton		1	6	1	14.13	1	14.13	367.38	
11544-0	2		8	5	16.40	10	164.00	4,264.00	
H E McCracken		1	6	1	14.13	1	14.13	367.38	
I litera I lead I aloud	2		8	5	16.40	10	164.00	4,264.00	
Hilton Head Island		1	6	1	14.13	1	14.13	367.38	
t adula laland	3		8	3	16.40	. 9	147.60	3,837.60	
Lady's Island		1	6	1	14.13	1	14.13	367.38	
Whale Bronch	2		8	5	16.40	10	164.00	4,264.00	
Whale Branch		1	6	1	14.13	1	14.13	367.38	
River Ridge Academy	2		8	5	16.40	10	164.00	4,264.00	
		1	6	1	14.13	1	14.13	367.38	
Robert Smalls	2		8	5	16.40	10	164.00	4,264.00	
International Academy		1	6	1	14.13	1	14.13	367.38	

IFB 16-007
Beaufort County School District
Resource Management Pricing
October 1, 2017 - December 31, 2017

Containers Proposed									
Location	14/	Domesto	Cubic	Weekly	Cost/Pull	# of	Cost/	6 Month	
Location	waste	Recycle	Yard	Frequency	/Week	Pulls/Week	Week	Total	
	High Schools								
Battery Creek	2		8	5	16.40	10	164.00	4,264.00	
Dattery Creek		1	6	1	14.13	1	14.13	367.38	
Beaufort	2		8	5	16.40	10	164.00	4,264.00	
Deautoit		2	6	1	14.13	2	28.26	734.76	
Beaufort Football	1		6	3	12.30	3	36.90	959.40	
Stadium									
Hilton Head Island	3		8	5	16.40	15	246.00	6,396.00	
niiton neau isianu		1	6	1	14.13	1	14.13	367.38	
Bluffton	2		8	5	16.40	10	164.00	4,264.00	
Biuiitoii		1	6	1	14.13	1	14.13	367.38	
Whale Branch Early	2		8	5	16.40	10	164.00	4,264.00	
College		1	6	1	14.13	1	14.13	367.38	
May River	2		8	5	16.40	10	164.00	4,264.00	
iviay Niver		1	6	1	14.13	1	14.13	367.38	
				Other			_		
District Educational	2		8	2	16.40	4	65.60	1,705.60	
Service Center		1	6	1	14.13	1	14.13	367.38	
BCSD Annex	1	, , , , , ,	6	1	12.30	1	12.30	319.80	
Pight Chaiges		1	6	1	14.13	1	14.13	367.38	
Right Choices									
Adult Education	1		1	3 .	2.31	3	6.93	180.18	
Addit Education		1	1	3	2.31	3	6.93	180.18	
	TOTALS						5,257.28	141,320.66	

Compost program should not begin during the 6 month baseline period.

Owner and Contractor may negotiate a composting program anytime after the 6 month baseline if it becomes available.

Weight Data Collecting Equipment shall be in place and operational as of 4/1/2016.